	Gene/partition
	# of positions in partition
	nst
	rates 
	statefreqpr 

	Rag1: alignment pos 1, codon pos 1
	492
	6
	gamma
	dirichlet (1,1,1,1)

	Rag1: alignment pos 2, codon pos 2
	491
	1
	equal
	dirichlet (1,1,1,1)

	Rag1: alignment pos 3, codon pos 3
	491
	6
	gamma
	dirichlet (1,1,1,1)

	Pomc: alignment pos 1, codon pos 3
	161
	6
	gamma
	dirichlet (1,1,1,1)

	Pomc: alignment pos 2, codon pos 1
	160
	2
	equal
	dirichlet (1,1,1,1)

	Pomc: alignment pos 3, codon pos 2
	160
	6
	equal
	dirichlet (1,1,1,1)

	Ncx1: alignment pos 1, codon pos 3
	245
	6
	equal
	fixed (equal)

	Ncx1: alignment pos 2, codon pos 1
	245
	6
	propinv
	dirichlet (1,1,1,1)

	Ncx1: alignment pos 3, codon pos 2
	245
	1
	equal
	dirichlet (1,1,1,1)

	Slc8a3: alignment pos 1, codon pos 2
	86
	1
	equal
	dirichlet (1,1,1,1)

	Slc8a3: alignment pos 2, codon pos 3
	86
	2
	equal
	dirichlet (1,1,1,1)

	Slc8a3: alignment pos 3, codon pos 1
	86
	1
	equal
	dirichlet (1,1,1,1)

	16s
	377
	6
	propinv
	dirichlet (1,1,1,1)

	Nad1: alignment pos 1, codon pos 1
	112
	2
	propinv
	dirichlet (1,1,1,1)

	Nad1: alignment pos 2, codon pos 2
	112
	2
	propinv
	dirichlet (1,1,1,1)

	Nad1: alignment pos 3, codon pos 3
	111
	2
	equal
	dirichlet (1,1,1,1)

	Nad2: alignment pos 1, codon pos 1
	337
	6
	gamma
	dirichlet (1,1,1,1)

	Nad2: alignment pos 2, codon pos 2
	337
	6
	propinv
	dirichlet (1,1,1,1)

	Nad2: alignment pos 3, codon pos 3
	336
	6
	propinv
	dirichlet (1,1,1,1)

	Co1: alignment pos 1, codon pos 1
	173
	6
	gamma
	fixed (equal)

	Co1: alignment pos 2, codon pos 2
	172
	1
	equal
	dirichlet (1,1,1,1)

	Co1: alignment pos 3, codon pos 3
	172
	6
	gamma
	dirichlet (1,1,1,1)

	tRNAs: His, Ile, Met, Trp, Ala, Asn, Tyr
	421
	6
	gamma
	dirichlet (1,1,1,1)

	Nad4: alignment pos 1, codon pos 1
	210
	6
	gamma
	dirichlet (1,1,1,1)

	Nad4: alignment pos 2, codon pos 2
	210
	2
	propinv
	dirichlet (1,1,1,1)

	Nad4: alignment pos 3, codon pos 3
	209
	2
	propinv
	dirichlet (1,1,1,1)

	Cytb: alignment pos 1, codon pos 2
	217
	1
	equal
	dirichlet (1,1,1,1)

	Cytb: alignment pos 2, codon pos 3
	217
	2
	equal
	dirichlet (1,1,1,1)

	Cytb: alignment pos 3, codon pos 1
	217
	1
	equal
	dirichlet (1,1,1,1)


